Sheldon Gilbert

Math 1030

Prof. Giessing

March 11, 2005

Homework Assignment 7
4-B Savings Plans and Investments

15) 43 = 4x4x4 = 64
17) 23 x 25 = 28 = 2x2x2x2x2x2x2x2 = 256
19) 36/32 = 34 = 3x3x3x3 = 81
21) 4-2 = 1/42 = 1/(4x4) = 1/16 = 0.0625
23) 45 x 4-2 = 45/42 = 43 = 4x4x4 = 64
25) 53/5-4 = 53/(1/54) = 53 x 54 = 57 = 5x5x5x5x5x5x5 = 78,125 = 7.8125 x 104 
27) x2 = 100
x = √100

x = 10
29) x3 = 27
x = 271/3
x=3 
31) x1/3 = 2

3(x 1/3) = 23
x = 23
x = 2x2x2

x = 8
35) Y = 9/12 = 0.75 years
APR = 12% or 0.12

PMT  = $100

Balance = A

n = 12

A = PMT x [(1+APR/n) (nY) – 1]/(APR/n)

A = 100 x [(1+0.12/12)(12x0.75) – 1]/(0.12/12)
A = 100 x [(1+0.01) (9) – 1]/(0.01)

A = 100 x [(1.01)9 – 1]/(0.01)

A ≈ 100 x [(.0937)]/0.01

A ≈  9.37/0.01

A ≈ $937
39) APR = 5% or 0.05
PMT = 50

Y = (65-25) = 40

n = 12

Balance = A

A = PMT x [(1+APR/n) (nY) – 1]/(APR/n)

A = 50 x [(1+0.05/12)(12x40) – 1]/(0.05/12)

A ≈ 50 x [(1+0.00417)(480) – 1]/(0.00417)

A ≈ 50 x [(1.00417)480 – 1]/(0.00417)

A ≈ 50 x [(6.37)]/0.00417
A ≈  318.5/0.00417
A ≈ $76,378.90 amount in IRA at age 65
Total deposit amount = (40x12x50) = $24,000

43) APR = 7.5% or 0.075

PMT = ???

Y = 18

n = 12

Balance = 150,000

A = PMT x [(1+APR/n) (nY) – 1]/(APR/n)
150,000 = PMT x [(1+0.075/12)(12x18) – 1]/(0.075/12)

150,000 = PMT x [(1+0.00625)(216) – 1]/(0.00625)

150,000 = PMT x [(1.00625)216 – 1]/(0.00625)

150,000 ≈ PMT x [(2.841)]/0.00625

.00625x150,000 ≈ (.00625) x PMT[2.841]/0.00625 

(1/2.841) 937.5 ≈ 2.841PMT (1/2.841)

$329.99 ≈ PMT
45) APR = 5.5% or 0.055

PMT = ???

Y = 3
n = 12

Balance = 10,000

A = PMT x [(1+APR/n) (nY) – 1]/(APR/n)

10,000 = PMT x [(1+0.055/12)(12x3) – 1]/(0.055/12)

10,000 ≈ PMT x [(1+0.00458)(36) – 1]/(0.00458)

10,000 ≈ PMT x [(1.00458)36 – 1]/(0.00458)

10,000 ≈ PMT x [(0.179)]/0.00458
.00458x10,000 ≈ (.00458) x PMT[0.179]/0.00458 

(1/0.179) 45.8 ≈ 0.179PMT (1/0.179)

$255.87 ≈ PMT
47) Balance required to earn adequate interest
APR = 6% or 0.06

50,000 = 0.06 x required balance

(1/0.06) 50,000 = 0.06 x required balance (1/0.06)

Required balance ≈ $833,333.33

A = PMT x [(1+APR/n) (nY) – 1]/(APR/n)

833,333.33 = PMT x [(1+0.06/12)(12x30) – 1]/(0.06/12)

833,333.33 = PMT x [(1+0.005)(360) – 1]/(0.005)

833,333.33 = PMT x [(1.005)360 – 1]/(0.005)

833,333.33 ≈ PMT x [(5.023)]/0.005

.005x 833,333.33 ≈ (.005) x PMT[5.023]/0.005 

(1/5.023) 4166.67 ≈ 5.023 PMT (1/5.023)

$829.52 ≈ PMT

49) P = 55x100 = 5,500
A = 10,300

Y = 5

Total return = (A – P)/P

Total return = (10,300 - 5,500)/5,500

Total return = 0.87 or 87%
Annual return = (A/P)(1/Y) – 1

Annual return = (10,300/5,500)(1/5) – 1

Annual return ≈ 1.87(1/5) – 1

Annual return ≈ 1.13 – 1

Annual return ≈ 0.13 or 13%

51) P = 5,500

A = 11,300

Y = 5

Total return = (A – P)/P

Total return = (11,300 - 5,500)/5,500

Total return = 5,800/5,500

Total return ≈ 1.05 0r 105%
Annual return = (A/P)(1/Y) – 1

Annual return = (11,300/5,500)(1/10) – 1

Annual return ≈ 2.05(1/10) – 1

Annual return ≈ 1.07 – 1

Annual return ≈ 0.07 or 7%

55) P = 7,500

A = 12,600

Y = 8

Total return = (A – P)/P

Total return = (12,600 - 7,500)/ 7,500

Total return = 5,100/7,500

Total return = 0.68 or 68%
Annual return = (A/P)(1/Y) – 1

Annual return = (12,600/7,500)(1/8) – 1

Annual return = 1.68(1/8) – 1

Annual return ≈ 1.07 – 1

Annual return ≈ .07 or 7%
57)
Investment value: A = P x (1+APR)Y
AAR = Annual Average Return

Y = # of years of investment = 2001 – 1931 = 70
P = 500

Small-company stocks: 12.4% AAR, or .124
A = P x (1+AAR)Y

A =  500 x (1+.124)70
A = 500 x (1.124)70
A ≈ 500 x 3,578.01
A ≈ $1,789,005
Large-company stocks: 11.1% AAR, or .111
A = P x (1+AAR)Y

A =  500 x (1+.111)70
A = 500 x (1.111)70
A ≈ 500 x 1,584.84
A ≈ $792,420
Long-term corporate bonds: 5.6% AAR, or .056
A = P x (1+AAR)Y

A =  500 x (1+.056)70
A = 500 x (1.056)70
A ≈ 500 x 45.34
A ≈ $22,670
US Treasury bills: 3.8% AAR, or .038
A = P x (1+AAR)Y

A =  500 x (1+.038)70
A = 500 x (1.038)70
A ≈ 500 x 13.61
A ≈ $6,805

93) P = 5,000

A = 22,000,000

Y = 50

Total return = (A – P)/P

Total return = (22,000,000 - 5,000)/ 5,000

Total return = 21,995,000/5,000

Total return = 4399 or 439,900%
Annual return = (A/P)(1/Y) – 1

Annual return = (22,000,000 /5,000)(1/50) – 1

Annual return = 4,400(1/50) – 1

Annual return ≈ 1.18 – 1

Annual return ≈ .18 or 18%
Since the average return for large-company stocks is 11.1%, her return is much greater.
4-C Loan Payments, Credit Cards and Mortgages

7) 
Makes sense: if the balance is high on the loan, and the monthly payment is low, then the amount of interest accrued per month could be greater than the amount of principal paid per month (total principal divided by total duration of loan, in months)
9) Does not make sense: often the minimum payment on the balance is not sufficient to cover the accrued interest (or just sufficient to cover the accrued interest), meaning you are actually 
15) APR = 10% or .10

Y = 20

P = 25,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [25000 x (.10/12)]/[1-(1+ .10/12)(-12x20) ]

PMT ≈  [25000 x (.008333)]/[1-(1+ .008333)(-240) ]

PMT ≈  208.325/[1-(1.008333)(-240) ]

PMT ≈  208.325/[1 – 0.13647]
PMT ≈  208.325/0.86353
PMT ≈  $241.25
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=20 yr x(12 mo/1 yr)x241.25/1 mo
total payment=$57,900
c) Total payment – principal = total interest paid
57,900 - 25,000 = total interest paid

$32,900 ≈ total interest paid
17) APR = 7.5% or .075

Y = 30

P = 150,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [150,000 x (.075/12)]/[1-(1+ .075/12)(-12x30) ]

PMT =  [150,000 x (.00625)]/[1-(1+ .00625)(-360) ]

PMT =  937.5/[1-(1.00625)(-360)]

PMT ≈  937.5/[0.893860170742]

PMT ≈  1,048.82
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=30 yr x(12 mo/1 yr)x 1,048.82/1 mo
total payment=$377,575.20
c) Total payment – principal = total interest paid

377,575.20 - 150,000 = total interest paid

$227,575.20 ≈ total interest paid

19) APR = 9% or .09

Y = 15

P = 100,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [100,000 x (.09/12)]/[1-(1+ .09/12)(-12x15) ]

PMT =  [100,000 x (.0075)]/[1-(1+ .0075)(-180) ]

PMT =  750/[1-(1.0075)(-180)]

PMT ≈  750/[0.260549433737]

PMT ≈  2,878.53
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=15 yr x(12 mo/1 yr)x 2,878.53/1 mo
total payment=$518,135.40
c) Total payment – principal = total interest paid

518,135.40 - 100,000 = total interest paid

$418,135.40 ≈ total interest paid

25) APR = 8.5% or .085

Y = 30
P = 100,000

n=12

PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [100,000 x (.085/12)]/[1-(1+ .085/12)(-12x30) ]

PMT =  [100,000 x (.00708333)]/[1-(1+.00708333)(-360) ]

PMT =  708.333/[1-(1.00708333)(-360)]

PMT ≈  708.333/[0.921213]

PMT ≈  768.91
total payment = Y x (n /1 yr) x PMT/1 mo
total payment=30 yr x(12 mo/1 yr)x 768.91/1 mo
total payment=$276,807.60
Total payment – principal = total interest paid

276,807.60 - 100,000 = total interest paid

$176,807.60 ≈ total interest paid
	END OF…
	INTEREST = (.085/12) x BALANCE
	PAYMENT TOWARD PRINCIPAL
	NEW PRINCIPAL

	Month 1
	.007083 x $100,000 = $708.30
	$768.91 - $708.30 = $60.61
	$100,000 - $60.61 = $99,939.39

	Month 2
	.007083 x $99,939.39 = $707.87
	$768.91 - $707.87 = $61.04
	$99,939.39 - $61.04 = $99,878.35

	Month 3
	.007083 x $99878.35 = $707.43
	$768.91 - $707.43 = $61.48
	$99,878.36 - $$61.48 = $99,816.88


29) APR = 18% or .18

P = $2,500

Y = 1

n = 12

PMT = [P x (APR/n)]/[1 – (1 + APR/n)(-nY)]
PMT = [2,500 x (.18/12)]/[1 – (1 + .18/12)(-12x1)]

PMT = [2,500 x (.015)]/[1 – (1 + .015)(-12)]

PMT = 37.5/[1 – (1.015)(-12)]
PMT = 37.5/[1 – .836387421895]

PMT = 37.5/.163612578105

PMT ≈ $229.20
31) APR = 21% or .21
P = $2,500

Y = 3

n = 12

PMT = [P x (APR/n)]/[1 – (1 + APR/n)(-nY)]
PMT = [2,500 x (.21/12)]/[1 – (1 + .21/12)(-12x3)]

PMT = [2,500 x (.0175)]/[1 – (1 + .0175)(-36)]

PMT = 43.75/[1 – (1.0175)(-36)]
PMT = 43.75/[1 – .535501825548]

PMT = 43.75/.464498174452
PMT ≈ $94.19
33) See last page for chart.  10 Months.
35) see last page for chart.
37) Option 1: APR = 8% or .08

Y = 30

P = 100,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [100,000 x (.08/12)]/[1-(1+ .08/12)(-12x30) ]

PMT ≈  [100,000 x (.006667)]/[1-(1+ .006667)(-360) ]

PMT ≈  666.7/[1-(1.006667)(-360)]

PMT ≈  666.7/[0.908567527443]

PMT ≈  733.79
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=30 yr x(12 mo/1 yr)x 733.79/1 mo
total payment=$264,164.40
c) Total payment – principal = total interest paid

$264,164.40 - 100,000 = total interest paid

$164,164.40 ≈ total interest paid
Option 2: APR = 7.5% or .075

Y = 15

P = 100,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [100,000 x (.075/12)]/[1-(1+ .075/12)(-12x15) ]

PMT ≈  [100,000 x (.006625)]/[1-(1+ .00625)(-180) ]

PMT ≈  662.5/[1-(1.00625)(-180)]

PMT ≈  662.5/[0.674208917773]

PMT ≈  982.63
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=15 yr x(12 mo/1 yr)x 982.63/1 mo
total payment=$176,873.40
c) Total payment – principal = total interest paid

$176,873.40 - 100,000 = total interest paid

$76,873.40 ≈ total interest paid
Wow, so Option 2 has a higher monthly rate, HOWEVER, the total interest paid for Option 1 is nearly TWICE the amount paid in option 2.  Clearly, option 2 is superior.
39) Option 1: APR = 7.15% or .0715

Y = 30

P = 120,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [120,000 x (.0715/12)]/[1-(1+ .0715/12)(-12x30) ]

PMT ≈  [120,000 x (.00595833)]/[1-(1+ . 00595833)(-360)]

PMT ≈  714.9996/[1-(1.00595833)(-360)]

PMT ≈  714.9996/[0.88218430301]

PMT ≈  $810.49
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=30 yr x(12 mo/1 yr)x 810.49/1 mo
total payment=$291,776.40
c) Total payment – principal = total interest paid

$291,776.40- 120,000 = total interest paid

$171,776.40 ≈ total interest paid
Option 2: APR = 6.75% or .0675

Y = 15

P = 120,000

n=12

a) PMT =  [P x (APR/n)]/[1-(1+ APR/n)(-nY) ]
PMT =  [120,000 x (.0675/12)]/[1-(1+ .0675/12)(-12x15) ]

PMT ≈  [120,000 x (.005625)]/[1-(1+ .005625)(-180) ]

PMT ≈  675/[1-(1.005625)(-180)]

PMT ≈  675/[0.635658249791]

PMT ≈  $1061.89
b) total payment = Y x (n /1 yr) x PMT/1 mo
total payment=15 yr x(12 mo/1 yr)x 1061.89/1 mo
total payment=$191,140.20
c) Total payment – principal = total interest paid

$191,140.20 - 120,000 = total interest paid

$71,140.20 ≈ total interest paid
While Option 2 has a higher monthly rate, in the end you will pay over $100,000 more in interest for option 1. Clearly, option 2 is superior.
4-D Income Tax

19) Wages = $47,200
Interest = $2,400

Tax deferred savings plan = $3,500

Personal exemption = $3,050

Deductions = $7,400
Gross income = wages + interest

Gross income = $47,200 + $2,400 = $49,600
Adj. gross income = Gross income – adjustments
AGI = $49,600 - $3,500 = $46,100
Taxable income = AGI – exemptions - deductions
Taxable income = $46,100 - $3,050 - $7,400

Taxable income = $35,650

21) Wages = $88,750

Interest = $95

Tax deferred savings plan = $6,200

Personal exemption = $3,050

Deductions = $9,050
Gross income = wages + interest

Gross income = $88,750+ $95= $88,845
Adj. gross income = Gross income – adjustments

AGI = $88,845- $6,200= $82,645
Taxable income = AGI – exemptions - deductions

Taxable income = $82,645- $3,050 - $9,050
Taxable income = $70,545
23) Deductible expenditures
Mortgage interest: $8,600

Charitable contributions: $2,700

State income tax: $645

Total: $11,945
Standard deduction: $9,500

Since $11,945 (itemized deductions) is greater than $9,500 (standard deduction) you should itemize. 
25) Wages: $33,200
Marital status: single

Savings interest: $350

Tax-deferred account: $500

Deductions: $450

Exemption: $3,050

Tax rate (single): 
Standard deduction: $4,750

Gross income = wages + interest

Gross income = $33,200+ $350= $33,550
Adj. gross income = Gross income – adjustments

AGI = $33,550 - $500 = $33,050
Taxable income with itemized deductions

Taxable income = AGI – exemptions - deductions

Taxable income = $33,050 - $3,050 - $450
Taxable income = $29,550
Taxable income with standard deduction

Taxable income = AGI – exemptions - deductions

Taxable income = $33,050 - $3,050 - $4750

Taxable income = $25,250
Taxes owed if using itemized deduction:
Taxes owed = (10% x 7000) + (15% x [28,400 – 7,000]) + (25% x [29,550 – 28,400])
Taxes owed = (.10 x 7000) + (.15 x [28,400 – 7,000]) + (.25 x [29,550 – 28,400])

Taxes owed = (700)+ (.15 x [21,400]) + (.25 x [1,150])

Taxes owed = 700 + 3,210 + 287.5

Taxes owed = $4,197.5

Taxes owed if using standard  deduction:

Taxes owed = (10% x 7000) + (15% x [25,250 – 7,000])

Taxes owed = (.10 x 7000) + (.15 x [25,250 – 7,000])

Taxes owed = (700)+ (.15 x [18,250]) 

Taxes owed = 700 + 2,737.5

Taxes owed = $3,437.50
Clearly, Suzanne should claim the standard deduction inasmuch as she would owe about $700 fewer in taxes.

29) taxable income: $35,400
Taxes owed = (10% x 7,000) + (15% x [28,400 – 7,000]) + (25% x [35,400 – 28,400])

Taxes owed=(.10 x 7,000) + (.15x [28,400 – 7,000]) + (.25 x [35,400 – 28,400])
Taxes owed = (700) + (.15x [21,400]) + (.25 x [7,000])

Taxes owed = 700 + 3,210 + 1,750
Taxes owed = $5,660

31)
taxable income: $77,300
Taxes owed = (10% x 7,000) + (15% x [28,400 – 7,000]) + (25% x [57,325 – 28,400]) + (28% x [77,300-57,325])

Taxes owed = (.10 x 7,000) + (.15 x [28,400 – 7,000]) + (.25 x [57,325 – 28,400]) + (.28 x [77,300-57,325])

Taxes owed = 700 + (.15 x 21,400) + (.25 x 28,925) + (.28 x 19,975)

Taxes owed = 700 + 3,210 + 7,231.25 + 5,593

Taxes owed = $16,734.25

33)

taxable income: $89,300

Tax credit = $1,000
Taxes owed = (10% x 10,000) + (15% x [38,050 – 10,000]) + (25% x [89,300 – 38,050])

Taxes owed = (.10 x 10,000) + (.15 x [38,050 – 10,000]) + (.25 x [89,300 – 38,050])

Taxes owed = (1,000) + (.15 x [28,050]) + (.25 x [51,250])

Taxes owed = 1,000 + 4,207.5 + 12,812.50

Taxes owed = $18,020 – Tax credit

Taxes owed = $18,020 – $1,000

Taxes owed = $17,020
37) 

Is this a trick question? Since a tax credit takes off from the overall taxes allowed then, of course, the credit will save them $500…
41) 

If he itemizes, he can save a maximum of 28% of the $1,000 or .28 x 1000; in other words, he saves $280.
43) Rent: $1,600/mo
House payment: $2,000/mo

Deductible interest: $1,800/mo 
Tax bracket: 33%

Adjusted mortgage cost/mo = house payment – (deductible interest x tax bracket)

Adjusted mortgage cost/mo = 2000 – (1800 x 33%)

Adjusted mortgage cost/mo = 2000 – (1800 x .33)

Adjusted mortgage cost/mo = 2000 – (594)

Adjusted mortgage cost/mo = $1,406

Therefore, it is cheaper to pay the mortgage per month.

45) 
Maria
True cost for mortgage interest = deductible interest - tax saving 

Tax saving = (tax bracket x deductible interest)

True cost = deductible interest – (tax bracket x deductible interest)

True cost = 10,000 – (33%x10,000)

True cost = 10,000 – (.33 x 10,000)

True cost = 10,000 – 3,300

True cost = $6,700

Steve

Maria
True cost for mortgage interest = deductible interest - tax saving 

Tax saving = (tax bracket x deductible interest)

True cost = deductible interest – (tax bracket x deductible interest)

True cost = 10,000 – (15%x10,000)

True cost = 10,000 – (.15 x 10,000)

True cost = 10,000 – 1,500

True cost = $8,500

53) Pierre
Wages: $120,000

Taxable income = wages – exemptions - deduction

Taxable income = 120,000 – 3,050 – 4,750 = 112,200

FICA = (7.65% x 87,000) + (1.45% x [120,000-87,000])

FICA = (.0765 x 87,000) + (.0145 x [120,000-87,000])

FICA = 6655.50 + (.0145 x [33,000])

FICA = 6655.50 + 478.50
FICA = $7,134
Taxes owed = income tax + FICA

Taxes owed = (10% x 7,000) + (15% x [28,400 – 7,000]) + (25% x [68,800-28,400]) + (28% x [112,000 – 68,800]) + FICA

Taxes owed = (.10 x 7,000) + (.15 x [28,400 – 7,000]) + (.25 x [68,800-28,400]) + (.28 x [112,000 – 68,800]) + 7,134
Taxes owed = 700 + (.15 x [21,400]) + (.25 x [40,400]) + (.28 x [43,200]) + 7,134
Taxes owed = 700 + 3210 + 10,100 + 12,096 + 7,134
Taxes owed = $33,240.00*
*value is $56 different from answer in back of book, but for the life of me I can’t figure out why…
Tax rate = taxes owed/wages
Tax rate = 33,240/120,000

Tax rate = .277 or 27.7%

Katarina

Dividends/long-term capital gains: $120,000

Personal exemption: $3,050
Taxable income = gains – exemptions - deduction
Taxable income = 120,000 – 3,050 – 4,750 = 112,200

Taxes owed = (5% x 28,400) + (15% x [112,200 – 28,400])

Taxes owed = (.05 x 28,400) + (.15 x [112,200 – 28,400])

Taxes owed = 1420 + (.15 x [83,800])

Taxes owed = 1420 + 12570

Taxes owed = $13,990

Tax rate = taxes owed/gains

Tax rate = 13,990/120,000

Tax rate = .117 or 11.7%

Pierre’s taxable rate is over twice that of Katarina.

55) Taxable income: $18,000
Tax-deferred savings = $400/mo = 12 mo x 400/mo = $4,800/yr

Tax bracket: 15%

Monthly tax saving = 15% x $400
Monthly tax saving = .15 x 400

Monthly tax saving = $60
Ergo, take-home pay decreases by only $340 ($400 - $60) rather than by $400, due to the tax saving.  Had the $400 been deposited in checking, a non-tax-deferred saving plan or spent, the owner would have been taxed on the full $400.
33) 

	
	Payment
	Expenses
	Interest
	New Balance

	0
	 $       -   
	 $        -   
	 $                              -   
	 $                                   1,200.00 

	1
	 $ 200.00 
	 $   75.00 
	1.5% x $1200 = $18
	$1200 - $200+$75+$18=$1093

	2
	 $ 200.00 
	 $   75.00 
	1.5% x $1093 ≈ $16.40
	$1093-$200+$75+$16.40=$984.4

	3
	 $ 200.00 
	 $   75.00 
	1.5% x $984.4 ≈ $14.77
	$984.4-$200+$75+14.77=$874.17

	4
	 $ 200.00 
	 $   75.00 
	1.5% x $874.17 ≈ $13.11
	$874.17-$200+$75+13.11=$762.28

	5
	 $ 200.00 
	 $   75.00 
	1.5% x $762.28 ≈ $11.43
	$762.28-$200+$75+11.43=$648.71

	6
	 $ 200.00 
	 $   75.00 
	1.5% x $648.71 ≈ $9.73
	$648.71-$200+$75+$9.73=$533.44

	7
	 $ 200.00 
	 $   75.00 
	1.5% x $533.44 ≈ $8.00
	$533.44-$200+$75+8.00=$416.44

	8
	 $ 200.00 
	 $   75.00 
	1.5% x $416.44 ≈ $6.25
	$416.44-$200+$75+6.25=$297.69

	9
	 $ 200.00 
	 $   75.00 
	1.5% x $297.69 ≈ $4.47
	$297.69-$200+$75+4.47=$177.16

	10
	 $ 200.00 
	 $   75.00 
	1.5% x $177.16 ≈ $2.66
	$177.16-$200+$75+2.66=$54.82

	11
	 $ 200.00 
	 $   75.00 
	1.5% x $54.82 ≈ $0.82
	$54.82-$200+$75+0.82= -$69.36


	Month
	Payment
	Expenses
	Interest
	New Balance

	0
	 $       -   
	 $        -   
	 $                              -   
	$300.00 

	1
	$300.00 
	$175.00 
	 $                            4.50 
	$179.50 

	2
	$150.00 
	$150.00 
	 $                            2.69 
	$182.19 

	3
	$400.00 
	$350.00 
	 $                            2.73 
	$134.93 

	4
	$500.00 
	$450.00 
	 $                            2.02 
	$86.95 

	5
	$0.00 
	$100.00 
	 $                            1.30 
	$188.25 

	6
	$100.00 
	$100.00 
	 $                            2.82 
	$191.08 

	7
	$200.00 
	$150.00 
	 $                            2.87 
	$143.94 

	8
	$100.00 
	$80.00 
	 $                            2.16 
	$126.10 
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